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Tell whether the or-de.Led pair is a solution of the system of linear equations.

1.(2,6); x+y=8
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Solve the system of linear ecluaﬂons by graphing.
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2. (8,2); x-y=6
2x - 10y = 4

8-9=L A YH=4
b=V |L-20=Y

“Yed

ol

4. (-2,1); 6x+By=-7
2% - 4y:..8
=D SN2 &(’d\ 4(1)y=-3
2. +9:=- 1 - - 4=-3
~7:’7\/ 'd: - RV

\‘",\ 7 L\,X \D\ z

X

O~
N
L




Algebra 1 - Chapter 5

Tty s DM o i
X + Y—" ng*-c‘])('i 8. 4x - 4y = 20 )(

ERE 3 53 v=-5 _i:g %}4*@‘3
Zy~|

- f':‘ } i : ' e e ..,;_..- _I_-l.... -
T ey | RN NN

- Ih groxed PR

X .r.. ! |...!...| . S E__...‘....._|.§ i ! el
E,:. . e il r '..__l{-._-- R ;_:, ’ . _

) i . ) ; : T .(O/ S)

: C"leB N Y A D30 O
| ) ==
it : ' L AT -
| AR N
= + . ey

9. x-4y = -4 10. 3y +4x =3
-3x -4y = 12 X+ 3y=-6
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Tell which equation Lou would choose to solve for one of the variables. Explain.

1. x+4y =10
Xx-2y=0

3. bx + 3y = 11
5x-y=5

2. 3x-y=0

2x +y = -10

4, 3x-2y =19

X+y=8

Solve the system of linear equations by substitution. Check your solution.
5. x =17 -4y
y=x-2
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Solve the system of linear equations by using substitution. Check your solution.
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11. A farmer plants corn and wheat on a 180-acre farm. The farmer wants to plant three times
as many acres of corn as wheat. Write a system of linear equations that represents this situation.
How many acres of each crop should the farmer plan'r?
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12. A company that offers tubing trips down a river rents tubes for a person to use and “cooler”
tubes to carry food and water. A group spends $270 to rent a total of 15 tubes. Write a system
of linear equations that represents this situation. How many of each type of tube does the group
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Solve the system of linear equations by elimination.
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::I?: :he system of liner equations by elimination.
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Solve the system of linear equations using any method. Explain why you chose 'rhe method.
P
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11. Solve for x, y, and z in the system of equations. Explain your steps.
X+ 7y +3z=29
3z +x-2y=-7
S5y = 10 - 2x






Algebra 1 - Chapter 5
Lesson 4

__ Name:

Solve the system of linear equations.

1.y=-2x-4
y=2x-4 q
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2.y=-6x-8
y=-6x+8




Algebra 1— Chapter 5

Lesson 4 ‘ ,
5. 4x + 4y = -8 — Unﬁ‘-\\j:’% 6. 15x - By = -20 —> 19K =Sy = -20
f2x-2y=4f§—%—‘b(—\h{—- 3 Bx ey =4 25454 = IO

Use only slopes and y-intercepts of the graphs of the equations to determine whether the system
of linear equations has one solution, no solutions, -or infinitely many solutions. Explain.
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fell whether the orde’r-ed pair is a solution of the system of linear inequalities.

1. (-4, 3)

No
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Tell whether the ordered pair is a solution of the system of linear inequalities.

5.(-5,2); y<4
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6raph the system of linear inequalities. (_ A
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